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Year 7 Two-Step Equations with Fractions 

Question 1 

Simplify the following: 

a. 
𝑥 + 6

5
= 2 

 
 
 
 
 

b. 
𝑎 − 5

3
= 6 

 

c. 
𝑚 + 4

5
= 2 

 
 
 
 
 

d. 
6 + 𝑦 

3
= 1 

 
 
 

e. 
𝑛 − 6 

2
= 7 

 
 

 
 

 

f. 
𝑎 − 1 

4
= 6 

 

g. 
𝑏+ 9 

8
= 10 

 
 
 
 
 

h. 
7 + 𝑥 

5
= 9 

 

i. 
3 + 𝑗 

6
= 5 

 
 
 
 
 

j. 
𝑎 − 8 

7
= 8 

 

k. 
𝑒 + 2

9
= 6 

 

l. 
𝑦 − 11 

2
= 3 
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Question 2 

Simplify the following: 

a. 
𝑦

2
+ 8 = 15 

 
 
 
 
 

b. 
𝑑

5
− 3 = 3 

 
 
 

 

c. −8 +
𝑥

5
= 12 

 
 
 
 
 

d. 6 +
𝑐 

2
= 12 

 
 
 

e. −10 +
𝑎 

6
= 2 

 
 

 
 

 

f. 
𝑢 

4
− 2 = −6 

 

g. 
𝑥 

8
+ 3 = 10 

 
 
 
 
 

h. 9 +
𝑘 

5
= 12 

 

i. 
𝑤  

6
− 1 = 5 

 
 
 
 
 

j. 8 +
𝑦

7
= −5 

 

k. 
𝑒

9
+ 2 = 6 

 

l. 
𝑚 

11
− 4 = −7 
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